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—a3&~-2=(2Z225, 0.7km) 300,000,000& * 14 300,000
OFEg++8 40,000
—z=E0=2EX 200,000& 2002 40,000
OZd+==+2 5,000
—zZ0=EX 5,000,000& 5,000
OsI==& 7,000
—zZZ0I2E8X 5002 x14,000& 7,000
Obl=s8X 24 30,000
— == 028X 50,000& =600 m 30,000
o=k S&J| JI2A& W3 89 450,000
—Z& 100HEHE MHEH(ZZ 2400 =4) 450,000,000 450,000
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2N HENSY
Mz S22 A2

ol CRANE TE (ct9: & 2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
03 Al2 201l 7,107 7,560 A 453
Oz SZIAS 1,974,000,000& +0.36% 7,107
HEOIESHANE(EX) 712,520 400,000 312,520
& 180,000
= 532,520
401 Al EHIZ 2OhY| 712,520 400,000 312,520
= 180,000
= 532,520
01 A& HI 707,408 397,120 310,288
OZE3 A MY 158,848
—0l210 ¢t Har QTS ALY 158,848,000& »14] 158,848
= 80,000
i 78,848
OZS3AHAMY 198,560
—EZ2NSHHEAILEX 198,560,000 198,560
& 100,000
= 98,560
O0eloltMME s s E 350,000
—A=6,000m* 350,000,000& 350,000
03 AlZ 2 01| 5,112 2,880 2,232
OZE3 A MY 2,592
—0eoletdEa oot R ALY 160,000,000 *0.72% 1,152
—E2USUHTAIEER 200,000, 000& *0.72% 1,440
Oogoletdxessd 350,000, 000& *0.72% 2,520
SHESZSZTEAY 1,382,970 3,610,880 A2,227,910
401 A2 HI 2 20| 1,382,970 3,610,880 £2,227,910
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SN

AL S

HE: S22 AL
Cel: C2AdE 1y (ee:&d
SN SRI(BH) - MRAY - BES sty e Hl =2
01 A& HI 1,378,650 3,600,260 22,221,610
OsHEEZ EZTE DA 1,200,000
—&I2E (1.0km) 300,000, 000& 300,000
— e & (0.6km) 200,000,000& 200,000
— S 0tH (0.6km) 200,000,000& 200,000
— I (1.0km) 300,000,000& 300,000
— HE A (0.7km) 200,000,000& 200,000
Osgsg8 23,000
—sHEZZ 0I=2EX 230, 000& 100 X 23,000
OZ&EEI==Z 3,300
— 028X 282 3,000,000,000&*1.1/1,000 3,300
O8Jl==g8 1,400
—0I=2=X 14,000& 1002 1,400
Onl=sX 24 80,000
—-sHEZ=Z 0I2EX 40,000& *2,000m" 80,000
OSMNH=sHECZE LS AHL=1.0km) 70,950
— & A& A 1,500,000,000& *4.73% 70,950
03 Al 2 0Hdl 4,320 10,620 26,300
O sHEEZEHZE DA 1,200,000,000& *0.36% 4,320
SHECZHTIAIL (2X) 3,000,000 0 3,000,000
= 2,000,000
i 1,000,000
401 A& HIZ 2ChY| 3,000,000 0 3,000,000
& 2,000,000
= 1,000,000
01 A& HI 2,989,200 0 2,989,200
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2N HENSY
Mz S22 A2

GOl CRAMY BF (Etel: & e
- _ _ XN -
SN HB L SA(3H) - MRAY - B S 0 & 2 e {ImEF]

SETEEIN: 2,989,200
—OlEtm THOHE DA 2,989,200,0002! 2,989,200
= 2,000,000
= 989,200

03 Al & = CHH| 10,800 0 10,800
OZHI 2 EAHY 10,800
—OlEHm THOHE B AL 3,000,000, 000%0. 36% 10,800

OFF BHEI 3 81 2 X A ALY 839,608 1,000,000 160,392

401 Al HI L 2R 839,608 1,000,000 160,392

01 Al&l 839,608 993,700 154,002
OZS 3 H A 839,608
— OB B AT A A (2011 2HIDIR L =) 839,608,000 839,608

SRAERXES 779,316 598, 160 181, 156

CSEANERNZ L2 779,316 598, 160 181,156

101 @124t 2,095 4,190 A2,005

04 JIAR2ERS B4 2,095 4,190 A2,005
OZEREYEA 34,9102 602 * 12! 2,095

201 LBre | 58,460 25,980 32,480

01 At 22l 51,600 19,120 32,480
OZZ22x40s HM4Y 70,0002 x4 43| 1,120
oL 22| 7,000 #1724 x40 4,760
O+28 A HYRRH SR600m1*1,2008 720
OSNNME YEE U 24| U2 500, 0008 302! *3CH 45,000

02 BB22H| 6,860 6,860 0
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SN

AL S

HH: T 2Ad2
& SRALERNES CHel & 2
SA - HB SRS - 0f &t e 52
OZIZEH(15E) B8R 2,300,000 1« 1CH 2,300
OZLsERMEIINEIRS 80,000 x1CH*12& 960
OCCTVeIEH Y AlsE & &g 50,0003 *6IH 2=+ 1200 2 3,600
206 M =4 102,500 233,990 A131,490
01 M=l 102,500 233,990 A131,490
o=z ddlE 50,0003 174 x565 4,250
Hoili#E gatzs 7Y 200,000% x200= 40,000
OdgA 7 30,000& »300m 9,000
OulxIl RFH 1,900 %500 £ *5CH 4,750
OsHY HoltiME EHH R F 250,000 »52CH 13,000
OHaitiHE HED RU(EH 600,000 20K 12,000
O8ZEH RX2cll 1,000,000 *1CH* 1204 & 12,000
OS3ct=(ZHota2) 15,0003 *500 % 7,500
401 Al HI R 20| 616,261 314,000 302,261
01 A& H] 611,840 314,000 297,840
O RN 22IAE 1,200,000& *150km 180,000
OuSoHHEXE £X £ FH 10,000, 000& +57H 2= 50,000
Ozt & sHEERZ =M 1,200,000 +70km 84,000
OQgU~F=XE2 E2 AMEE S 297,840,000 297,840
03 Al 2 UHH 4,421 0 4,421
OZZANERAE=2 314,000,000& *0.72% 2,261
Olgdu~=xE2t =2 A= S 300,000,000 *0.72% 2,160
HsusEst 2,607,045 2,083,885 523,160
= 382,388
o 2,224,657




FA A0S
dM: HsusEst
&t 2 ME XA (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
2 MME X 2,217,213 1,576,508 640,705
& 382,388
i 1,834,825
HAEH HAEASB A 598,267 360,000 238,267
& 167,388
= 430,879
307 2I2toI ™ 598,267 360,000 238,267
= 167,388
= 430,879
09 2==HHEX= 598,267 360,000 238,267
OSHIEZ ALY 598,267
—HIALd ZABAIX (SR lADEL 1I1L) 598,267,000& 14! 598,267
= 167,388
= 430,879
HAQIE 822 &1 38,500 16,200 22,300
401 A& HIS 2 CHYI 38,500 16,200 22,300
01 A& HI 38,500 16,200 22,300
OHALY gz HAZEES dX(F-AE2Z2 1HL) 3,500,000 = 11CH 38,500
2 RHEx N& 1,100,000 840,000 260,000
307 21zZtol 1,100,000 840,000 260,000
09 2+LHEXZ 1,100,000 840,000 260,000
O2+giH RIHEXZ X2 (290CH) 275,000,000& *4 3] 1,100,000
HASAH HEXR 430,000 339,362 90,638
= 215,000
= 215,000
307 21Ztol ™ 430,000 339,362 90,638
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2N HEDED
M ZDE28
ol 2XAME N (e @
- _ _ NUE &
SN-FH-SA(SA) - NEAY - BES Off & OH 01,‘;5‘; HnsZ
= 215,000
2 215,000
09 24 EE2 430,000 339,362 90,633
OZHI B E AL 430,000
—SOIEHAN MIN(BARADS) 430,000,0002! %14} 430,000
= 215,000
2 215,000
S d DEEA 20,946 20,946 0
101 01214 20,946 20,946 0
04 JARBRRE 24 20,946 20,946 0
ST M DESE AL 34,9102 602 ¥52 %23 20,946
SAISH THE KR 29,500 0 29,500
402 Q12X+ 0/ 29,500 0 29,500
NEEETES 29,500 0 29,500
CEWR-PSIE 250,0002 *118CH 29,500
DEHIANLE 190,640 312,940 A 122,300
HASAE ax 2 98,500 104,800 6,300
401 A& HIL 2 TH b 98,500 104,800 6,300
01 Al &bl 98,500 104,800 6,300
OHAZ2Y &% 9,000,0002 *107H 2 90,000
OHASAT T4 500,00024 #1774 4 8,500
DEUHAILS XA 65,500 164,940 £.99,440
401 Al 2B 2O 65,500 94,940 29,440
01 Al&t] 65,500 94,940 29,440
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’SI‘PQL_F% DEIN =Y SeEd)
SN - HE - SI(E) - NRAY - BAS & oy e =2
Ousdss dIIea 30,000& * 11001 * 123 39,600
SN = 42,758 38,203 4,555
101 el24d| 39,258 34,703 4,555
04 J|12HHZ22NSES 39,258 34,703 4,555
OS8=.3xHs 39,258
—Jl2a 34,9103 3 #2202 23,041
o = 34,9102 x3% 522 5,446
PN 34,9102 +x3F + 15 1,571
—EY =.3x oH §gA2Z 1,400,000& *3 4,200
—=£Y F A4 U5 BE206U 2EER) 5,000
202 o4 4l 3,500 3,500 0
01 SLHA bl 3,500 3,500 0
o248+ .8x =X 20,0003 x5H x35 3,500
AHHS XA 5,500 5,500 0
307 2I2toI & 5,500 5,500 0
03 AtSIEHNEXZ 5,500 5,500 0
ORg2&8 Xzl s A=lEd K& 5,500
—HE N3 3,000
—2H2AIS 2,500
HYPHAH(HEDED) 80,886 479,635 A 398,749
a] 80,886 78,700 2,186
Jl=2Z4 80,886 78,700 2,186
201 gEt24dd| 43,926 43,400 526
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SN
X ZH: S
S Tt

el

[
0
F
10

SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

01 AR 2t 2ld| 43,926 43,400 526
ORNSH 1,831,000& *21H 38,451
O=&l 3,675
—E204lb 7,000 «21H*252 3,675
Oex= 1,800
—SIE=ZA 150,000 «1CH+ 12 1,800

202 (44l 32,760 31,100 1,660

01 SLHA bl 32,760 31,100 1,660
OZ L bI 80,000& »21&H x12& 20,160
o220yl 75,0003 x21H +8 12,600

203 H =&l 4,200 4,200 0

04 RFA2EHRFEH 4,200 4,200 0
ORN2IHRFAHI 350,000 «12& 4,200
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